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Answers for 9.5
For use with pages 645-648

9.5 Skill Practice

1. vertices, transverse axis

2. In an ellipse the sum of the
distances remains constant while
in a hyperbola the difference of
the distances remains constant.
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15. D

16. The hyperbola should open
up/down with vertices (0, *6).
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The equation of a hyperbola

must equal one, so the hyperbola’s

vertices should be located

at (+4, 0).
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a. The hyperbola will be

b

narrower, the vertices are
the same, but the foci move

to (=V13, 0).

. The hyperbola will be wider,
the vertices are the same, but
the foci move to (0, =V41).
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2
y
35. Sample answer: x> — 1= 1,
x2 y° x? y*
4716 9T b

as the value of a gets larger the
hyperbola is stretched vertically.

36. Sample answer: Choose (x, y) to
be (—a,0).d, = 2a + cand

d, = c therefore |al2 —d, | = 2a.

2
37.x2—y?=1

9.6 Problem Solving

x —
38. 7089 ~ 2047 ~ |
x2 y2 .
39. T — I =1
2 4
x2 y° .
40. a. 175 ~ 61835 |
2 2
R S
1681 ~ 608.19
41. a. (30.5,0), (85, —40)
2 2
b, -~ J 1

93025 23645
c. about 54.6 ft
42. a. my? — mx? = 600

b. Sample answer:
About (1, 13.9), (3, 14.1),
(6, 15.1), (9, 16.5)
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the part of the hyperbola found
in the first quadrant

. It gets smaller; since the area
of concrete remains constant
as the radii increases, the
width decreases.
R

16 20

. Sample answer: Choose any
point on the graph and observe
that the difference of the
distances from that point and
the foci remains constant.

44. No. Sample answer: Using

microphones A and B as the foci,
there 1s more than one location for
the elk to be located.

9.5 Mixed Review
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-6 9
—40 24

Not possible; the number of
columns in the first matrix is not
equal to the number of rows in the
second matrix.
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